## Name of Skill:-Tourism & Hospitality List of Tools & Equipments

Sr. No.	Name of the Equipment	Specification of Equipment	No. of items required per lab	Pictures of Equipment	Maximum Cost per item	Total cost of Equipment Per lab in Rs.
1	Simple map India and World	For Display Purposes	2		700	1400
2	Rail & Air connectivity route map	For Display Purposes	2		1000	2000
3	Classroom with audio/visual aids. (e.g -Projector with Screen)	Use of projectors in the classroom, students can take better	1		38,000	38,000
4	Demo for passport forms & visa file	For Display Purposes	2	** The second of	500	1000
5	World Clocks ( for show different Nation time )	Standard	1		500	500
6	Models or Pictures of tourist attrections:- New seven wonders , Golden Temple, Historical Monuments and Aeroplane model	Standard	10	The state of the s	950	9500
7	Display counter for brochures ,forms etc	Standard	1		3500	3500
8	Safety signs Board	Standard	1		1500	1500
9	Airport model ( How airport works )	Standard	1		1500	1500

10	First Aid kit	Standard	1	THE STATE OF THE S	500	500
11	Reception counter with Telephone facility (without connection) & Reservation diary	Standard	1		9500	9500
12	Travel Agency management Travel /Tour terminologies Tourism Ethice Office file management Communication skills First Aid	Standard	6	THE BUSINESS OF TRAVEL AGENCY TOUR OPERATIONS MANAGEMENT	400	2400
13	Launage communication equipments :- Headphones, CDs & Mirror (6 * 2)	Standard	12		500	6000
14	Display Board :- Airport codes & Railway Station codes	Standard	2	FF 2018 5 Tep 3 8 Section Append on India	1250	2500
15	Hat	Standard	2		200	400
16	Sun Block Lotion	Sunscreens are used to protect the skin from the harmful effects of the sun	1	S. D. S.	150	150
17	Whistle	Whistle: Coloured Plastic with clips	1		100	100
18	Map Compass	Finding your campsite, a spectacular viewpoint or your way back out of the wilderness won't always be simple tasks	2		350	700
19	Atlas	Standard	1	ATLES OF TRAINING	500	500

20	Customer siting arrangement (4 Chairs & 1 Table)	Standard with wooden table	1 Set		7500	7500
21	Printed Itinerary material (Domestic & International)	A4	5 Booklets	Mare the desired frequency	300	1500
22	Debit / Credit Card Training Machine	Standard	1		5000	5000
23	Table Mat	Wideth 30CM & Length 45Cm	4	30Cm Eth	250	600
24	Water Glass ( High Ball )	Standard	4		100	400
25	Wine Glass	Standard	4		150	600
26	Waiter Cloth	Standard	1		250	250
27	Table Napkin	20 * 20 Inch	4		100	400
28	Passenger checklist of Airport (Domestic & International)	A4	5 Booklets		250	1250
29	Bar Counter	Standard size to show the bar set up to students	1		7000	7000
30	6 cover set differently for breakfast, lunch and Dinner set	Standard	3		3000	9000

31	Dessert plate	6 piece set	1 set	400	400
32	Dessert spoons	6 piece set	1 set	500	500
33	Pasta plate	11 inches Standard	2 units	300	600
34	Dessert Knife	Standard	2 units	200	400
35	Service spoons	metal	2 units	200	400
36	Table forks	pack of six	1 set	400	400
37	Tea Strainer	steel	2	125	250
38	Tea set with kettle	ceramic	1	1800	1800
39	water jug	steel	2	250	500
40	salt and pepper set	glass or steel material	2	200	400
41	Toothpick holder	steel	2	100	200

	•					
42	Straw holder	standard	2		200	400
43	Napkin holder	Steel	2		250	500
44	Finger bowl large	standard	2		200	400
45	Round service tray	Steel	2		500	1000
46	Table cloth and baize cloth	Cotton	2		1000	2000
47	Table napkins	Cotton	6		150	900
48	Bar tool kit	With all essential equipments of bar	1		2800	2800
49	brass lobby stand for party with sticky alphabets and numbers	Brass with front open door fitted with glass and of size of 900mm *600 mm	1	The same of the sa	7500	7500
50	Different colour coded dustbins	Dustbin with lid and pedal operation	2	Magazine Miggar	600	1200
51	coffee mugs	Ceramics mugs	6		200	1200
52	Wiping cloth	Wiping cloth	4		100	400

53	Waiter dress	Cotton material	2	Ü	500	1000
54	Knife set	Kitchen Knife set for showing different types of knives and uses	2	Knife Set G Pc	500	1000
55	Storage cabinet	Wooden or aluminium	1		5000	5000
56	Rectangular service tray	To serve drinks to guests	2		600	1200
57	Side station for restaurant	Wooden	1		3000	3000
58	service trolley	stainless steel	1		9500	9500
				TOTAL		160000